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Enrollment No: _______________________         Exam Seat No:_______________________ 

C. U. SHAH UNIVERSITY 

Winter Examination-2022 

 

Subject Name: Quantity Surveying and Estimating   
 

Subject Code: 2TE04QSE1    Branch: Diploma (Civil) 
    

Semester: 4       Date: 21/09/2022   Time: 02:30 To 05:30  Marks: 70 
 

Instructions: 
(1) Use of Programmable calculator & any other electronic instrument is prohibited. 

(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: (14)  

 a)  What is the volume of one bag cement?  

(A) 0.025 m
3
      (B) 0.035 m

3
          (C) 0.045 m

3
       (D) 0.055 m

3
 

01 

 b)  What is standard size of brick?  

(A) 18 x 8 x 8 cm                               (B) 19 x 9 x 9 cm   

(C) 20 x 10 x 10 cm                           (D) 21 x 11 x 11 cm                   

01 

 c)  What is density of steel?  

(A) 2500 kg/m
3
  (B) 1000 kg/m

3
  (C) 7850 kg/m

3
   (D) 10000 kg/m

3
 

01 

 d)  Unit of measurement for Wood is  

(A) m
3
             (B) m

2
                (C) m                   (D) kg  

01 

 e)  Give the service unit for school  

(A) student        (B) classroom             (C) room            (D) seat 
01 

 f)  What percentage of the estimated cost is allocated as contingency in the 

estimate? 

(A) 3 to 5          (B) 5 to 10         (C) 7 to 9          (D) 1 to 2 

01 

 g)  What are the costs other than materials, labor and machinery required for 

items of construction called? 

(A) Water Charges                    (B) Overhead Charges   

(C) Spot Item                            (D) Day Work 

01 

 h)  What is density of sand?  

(A) 2500 kg/m
3
  (B) 1000 kg/m

3
  (C) 7850 kg/m

3
   (D) 1500 kg/m

3
 

01 

 i)  Give the service unit for water tank  

(A) man             (B) kilometer              (C) litre            (D) seat 
01 

 j)  Unit of measurement for PCC is  

(A) m
3
             (B) m

2
                (C) m                   (D) kg  

01 

 k)  What is density of RCC?  

(A) 2500 kg/m
3
  (B) 1000 kg/m

3
  (C) 7850 kg/m

3
   (D) 1500 kg/m

3
 

01 

 l)  Give the service unit for cinema  

(A) man             (B) kilometer              (C) room            (D) seat 
01 

 m)  What is the water charges of any item in rate analysis?  

(A) 1% to 1.5%   (B) 1.5% to 2%    (C) 2% to 2.5%   (D) 4% to 5% 
01 

 n)  Unit of measurement for Rolling Shutter is  01 
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(A) m
3
             (B) m

2
                (C) m                   (D) kg  

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 
 A Mention the qualifications of a good estimator and the information 

required to make an estimate. 
07 

 B Give the definitions: (1) Provisional Sum (2) Prime Cost (3) Spot Item 

(4) Provisional Quantity (5) contingency (6) day work (7) Work Charge 

Establishment 

07 

    

Q-3  Attempt all questions (14) 
 A Describe the rules of deduction for plastering and concrete construction. 07 

 B Write principles of specification writing. 07 

    

Q-4  Attempt all questions (14) 
 A Write the purpose and importance of the specification. 07 

 B Write detailed specification for reinforced cement concrete 1:2:4. 07 

    

Q-5  Attempt all questions (14) 

 A Explain by listing the factors affecting rate analysis. 07 

 B Explain: Task work. 07 

    

Q-6  Attempt all questions (14) 
 A Write a detailed specification for wood work for windows and doors. 07 

 B Write the factors affecting task work. 07 

Q-7  Attempt all questions (14) 
 A Write a detailed specification for Brick Masonry Cement Mortar 1:6 in 

first class. 
07 

 B Rate analysis for first class brick masonry in cement coal 1:6 in super 

structure. 
07 

    

Q-8   (14) 
  The inside dimensions of a room are 3.0 m × 4.0 m. RCC on it. is a slab, 

which is shown in figure 1. Assume top and bottom cover 20 mm and 

end cover 50 mm. Consider the following details. 

(1) Cement concrete for slabs (1:1.5:3) 

(2) Centering and shuttering for slabs 

(3) Weight of 12 mm diameter main rod 

(4) Weight of 6 mm diameter distribution rod 

(5) Abstract for Estimated Costs 

(6) Quantity of cement, sand, gravel for roofing 

(7) Percent of steel in slab 
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Q-1  Attempt the following questions: (14)  

 a)  એક થેરી સિભેન્ટન ું કદ કેટલ ું હોમ છે? 

 (A) 0.025 m
3
          (B) 0.035 m

3
           (C) 0.045 m

3
       (D) 0.055 m

3
 

01 

 b)  ઈંટ પ્રભાણભતૂ ભા઩ કેટલ ું હોમ છે? 

 (A) 18 x 8 x 8 cm                     (B) 19 x 9 x 9 cm  

 (C) 20 x 10 x 10 cm                 (D) 21 x 11 x 11 cm 

01 

 c)  સ્ટીર ની ઘનતા કેટરી હોમ છે? 

 (A) 2500 kg/m
3
   (B) 1000 kg/m

3
   (C) 7850 kg/m

3
   (D) 10000 kg/m

3
 

01 

 d)  રાકડ ું ને ભા઩લાનો એકભ છે  
(A) m

3
                (B) m

2
                   (C) m                    (D) kg 

01 

 e)  સ્ક ર ભાટે િેલા એકભ આ઩ો  
(A) man                 (B) kilometer            (C) room          (D) seat 

01 

 f)  એસ્સ્ટભેટભાું કેટરા ટકા અંદાજિત કકિંભત જેટરી યકભ કન્ટીિન્િી તયીકે 

પા઱લલાભાું આલે છે? 

(A) 3 to 5       (B) 5 to 10        (C) 7 to 9       (D) 1 to 2 

01 

 g)  ફાુંધકાભની લસ્ત  ઓ ભાટે િરૂયી િાભગ્રી, શ્રભ અને ભળીનયી સિલામના અન્મ 

ખર્ચન ેશ ું કહ ેછે? 

(A) લોટય ર્ાજિિ  (B) ઓલયહડે  ર્ાજિિ  (C) સ્઩ોટ આઈટભ  (D) ડે લકચ  

01 

 h)  યેતી ની ઘનતા કેટરી હોમ છે? 

(A) 2500 kg/m
3
   (B) 1000 kg/m

3
   (C) 7850 kg/m

3
   (D) 1500 kg/m

3
 

01 

 i)  ઩ાણીની ટાુંકી ભાટે િેલા એકભ આ઩ો  
(A) man                 (B) kilometer            (C) litre           (D) seat 

01 

 j)  ઩ીિીિી ને ભા઩લાનો એકભ છે  
(A) m

3
                (B) m

2
                   (C) m                    (D) kg 

01 

 k)  આય િી િી  ની ઘનતા કેટરી હોમ છે? 

(A) 2500 kg/m
3
   (B) 1000 kg/m

3
   (C) 7850 kg/m

3
   (D) 1500 kg/m

3
 

01 

 l)  સિનેભા ભાટે િેલા એકભ આ઩ો  
(A) man                 (B) kilometer            (C) room          (D) seat 

01 

 m)  દય પથૃ્થકયણભાું કોઈ઩ણ લસ્ત  ના ઩ાણીના શ લ્ક શ ું છે? 

(A) 1% to 1.5%   (B) 1.5% to 2%    (C) 2% to 2.5%   (D) 4% to 5% 

01 

 n)  યોલરિંગ ળટય ને ભા઩લાનો એકભ છે  
(A) m

3
                (B) m

2
                   (C) m                    (D) kg 

 

01 
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Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 
 A િાયા અંદાિકાય ની રામકાતો િણાલો અને અંદાિ ફનાલલા ભાટે િરૂયી 

ભાકહતી િણાલો. 

07 

 B વ્માખ્માઓ આ઩ો: (1) પ્રોસલઝનર િભ (2) પ્રાઈભ કોસ્ટ (3) સ્઩ોટ આઈટભ 

(4) પ્રોસલઝનર કલોસ્ન્ટટી  (5) કન્ટીિન્િી  (6) ડે લકચ  (7) લકચ ર્ાિ 
એસ્ટાબ્લરળભેન્ટ 

07 

    

Q-3  Attempt all questions (14) 

 A પ્રાસ્ટકયિંગ અને કોંકે્રટ ફાુંધકાભ ભાટેના ક઩ાતાના સનમભો લણચલો. 07 

 B સલસળષ્ટ સલલયણ રખલાના સિિંધ્ધાતો રખો. 07 

    

Q-4  Attempt all questions (14) 

 A સલલયણના હતે  ઓ અને અગત્મતા રખો. 07 

 B પ્રફલરત સિભેન્ટ કોંકે્રટ 1:2:4 ભાટે સલગતલાય સલસળષ્ટ સલલયણ રખો. 07 

    

Q-5  Attempt all questions (14) 

 A બાલ પથૃકકયણને અિય કયતા ઩કયફ઱ની માદી કયીને િભજાલો. 07 

 B િભજાલો: ટાસ્ક લકચ  07 

    

Q-6  Attempt all questions (14) 

 A ફાયીફાયણાું ભાટે રાકડાકાભ ભાટે સલગતલાય સલસળષ્ટ સલલયણ રખો. 07 

 B ટાસ્ક લકચને અિય કયતા ઩કયફ઱ો રખો. 07 

Q-7  Attempt all questions (14) 

 A પ્રથભ લગચભાું ઇટન ું ર્ણતયકાભ સિભેન્ટ ભોટાચય 1:6 ભાટે સલગતલાય 
સલસળષ્ટ સલલયણ રખો. 

07 

 B સ ઩ય સ્રકર્ભાું સિભેન્ટ કોર 1:6 ભાું પ્રથભ કક્ષાન ું ઈટના ર્ણતયકાભ ભાટે 
બાલ પથૃકકયણ કયો. 

07 

    

Q-8   (14) 
  એક રૂભના અંદયના ભા઩ 3.0 ભીટય × 4.0 ભીટય છે. તેના ઩ય આય.િી.િી. ન ું 

ધાબ  (slab ) છે, જે figure 1 ભાું દળાચલેર  છે. ઉ઩યન ું અને નીર્ેન ું કલય 20 mm 

અને છેડાન ું કલય 50 mm ધાયો. નીર્ેની સલગતો ગણો.  

(1) સ્રેફ ભાટેન ું સિભેન્ટ કોંકે્રટ (1:1.5: 3) 
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(2) સ્રેફ ભાટેન ું િેન્ટયીંગ અને ળટકયિંગ  

(3) 12 mm વ્માિના મ ખ્મ િલ઱માન ું લિન  

(4) 6 mm વ્માિના કડસ્રીલય ળન િલ઱માન ું લિન  

(5) અંદાજિત ખર્ચ ભાટે એફસ્રેક્ટ  

(6) ધાફા ભાટે સિભેન્ટ, યેતી, ક઩ર્ીનો િથ્થો  

(7) ધાફાભાું સ્ટીરના ટકા    
    

 

 

Figure 1 


